
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 M061146274D D 6.4(B) [S] 6.12(A) [P] STAAR: M2

2 M061090026D width = 20;  w = A/l  or  w = 280/14 6.4(B) [S] 6.13(B) [P] STAAR: M2

3 M061150035D C 6.5(A) [R] 6.13(A) [P] STAAR: M2

4 M061092869D G 6.5(A) [R] 6.11(A) [P] STAAR: M2

5 M061150041D A 6.4(A) [R] None STAAR: M2

6 M061150050D J 6.4(A) [R] 6.13(A) [P] STAAR: M2

7 M061150052D A 6.4(A) [R] 6.13(A) [P] STAAR: M2

8 M063023266 G 6.7(A) [S] None STAAR: M3

9 M061096025D D 6.7(A) [S] None STAAR: M3

10 M061096030D H 6.7(A) [S] None STAAR: M3

11 M061096371D

A. Table should have two columns: under a column for "Day",
the numbers 1-5 should be entered; under the column for
"Cases Sold" they should have listed 6, 14, 22, 30, and 38.

B. Check students graphs for accuracy.

C. No, it is not proportional. One reason could be because
the line on the graph does not go through the origin.

6.4(A) [R] None STAAR: M2
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